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EAER S 40—8—15N(E)

OEMHEREMRDOLT VAR
(A MRBEERE 7 A)ERGS A ORKENE
é?)bﬁuwk;’:{f&(%)h 0.62 |

(2) 3R M (THO RNV SR RIER S 7 ILH) OHERIE
£7ILhY méﬂ&ﬁﬁﬁ(%ﬂl 0.18 ||

(3)RBMF(TAT1—2ILV) RERERBEEDLTILHE
£7LHIE (%) 0.8 |

@ ALV R{E

EADEFIAY  (Re)| 062 %
B A RE (C) 450 kg/m°
WEEHDLTZILH) (Ra) | O-18 %
B {3 ok & (E) 50 kg/m’
_REFIOLT7ILAYE (Rm) 0.8 %
RS (My) 2. 25 kg/m°
8- #1 B #4  DNacl 0 %
F: HBM~BA
B~ 1LED
@7 /LA DEE (Rt) DEHHE
Ri= wneXC, _RaXE RmxMy
100 100 100

. X45 .8%2. 25
0. 62 o + 0. 18 x50 + 0.8 <

100 100 100
= 2.7940. 09+0. 02=2. 90kg/m3<3. Okg/ms OK
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